
GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  0 6  2 9

L i m b u s B a r n  2 7 0



GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

S E

E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  0 6  2 9

L i m b u s B a r n  2 7 0

T H I S  P A C K A G E  C O N T A I N S :
• Fabric covered panels 28 pcs
• Floor frame  side 2 pcs
• Floor frame gabel 2 pcs
• Tubes side 6 pcs
• Tubes roof 6 pcs
• Connecting pipes 2 pcs
• Male coupling roof (100 mm) 4 pcs
• Male coupling floor (30 mm) 6 pcs
• Angle console  45gr 6 pcs
• Angle console  90gr 3 pcs
• Socket head screw counter sunk head M6x16 12 pcs
• Socket head screwcounter sunk head M5x12 18 pcs
• Socket head screw cylindrical head M6x25 8 pcs
• Socket head screw button head M6x20 84 pcs
• Self drilling metal screw 4.2x13 12 pcs
• Cover caps 4 pcs
• Felt pads 16 pcs
• Lamp hook 1 pc

Vi rekommenderar att du följer våra monteringsanvisningar för att säkerställa att din möbel från Glimakra of Sweden varar 

i många år. / We recommend to follow our assembly instructions to ensure that your Glimakra of Sweden furniture lasts for 

many years.

D E T  H Ä R  P A K E T E T  I N N E H Å L L E R :
• Tygklädda paneler 28 st
• Golvskena sida 2 st
• Golvskena gavel 2 st
• Rör sida 6 st
• Rör tak 6 st
• Kopplingsrör 2 st
• Rörhane koppling tak (100 mm) 4 st
• Rörhane koppling golv  (30 mm) 6 st
• Vinkelkonsoll 45 gr 6 st
• Vinkelkonsoll 90 gr 3 st
• Insexskruv försänkt skalle M6x16 12 st
• Insexskruv försänkt skalle M5x12 18 st
• Insexskruv cylindrisk skalle M6x25 8 st
• Insexskruv kullrig skalle M6x20 84 st
• Självborrande plåtskruv 4.2x13 12 st
• Täckplugg 4 st
• Filttass 16 st
• Lampupphängning 1 st



GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

S E

E N

S E

E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  0 6  2 9

L i m b u s B a r n  2 7 0

2

Gable.
A. Push together the pipes and the angle consoles and lock 
them with socket head screwcounter sunk head M5x12.

B. Screw on male coupling with socket head screw cylindrical 
head M6x25. Middle gable has male couplings on both sides.

Gavel.
A. Skjut in rören och vinkelkonsolerna och lås dem med 
insexskruv försänkt skalle M5x12.

B. Skruva in hankopplingen med insexskruv cylindrisk skalle 
M6x25.Den mellersta delen av gaveln har hankopplingar på 
båda sidor.

A

B

Floor Frame. 
Assemble the floor rails and male couplings with socket head 
screw counter sunk head M6x16.
Paste felt pad in corners and three evenly distributed on each 
floor rail. 
Turn the frame and place it in right position.

Golvram.
Montera golvskenorna och hankopplingar med insexskruv 
försänkt skalle M6x16.
Klistra filttassen i hörnen och fördela jämnt de tre tre på varje 
golvskena.
Vrid ramen och placera den i rätt läge.

1



GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

S E

E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  0 6  2 9

L i m b u s B a r n  2 7 0

3

Stand up and assemble lamp hook and floor frame.
A. Push on the connecting pipes and at the same time fasten 
the lamp hook in the middle gable with self drilling metal screw 
4.2x13.

B. Push on cover caps on outside gables.

Uppställning och montering av lampkrok och golvram.
A. Tryck på kopplingsrören och samtidigt fäst lampkroken i 
mittgallret med självborrande plåtskruv 4.2x13. 

B. Tryck på täckplugg på utvändiga gavlar.

A

B



GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

S E

E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  0 6  2 9

L i m b u s B a r n  2 7 0

4

Fabric covered panels.
A. Socket head screw button head M6x20, 3 pcs in the cut 
surface in fabric. Leave about 1 mm between fabric and screw 
head.                

B.Start from below and hang on the fabric panels in key holes.

Tygklädda paneler.
A.Insexskruv kullrig skalle M6x20, 3 st i skuren yta i tyg.  
Lämna ca 1 mm mellan tyg och skruvhuvud.

B. Börja underifrån och häng på tyget i hålen.

A

B

1 mm


